S e o e e e e e S e e

mmw@%m—g@w@aﬁaﬁﬂ@mmﬁmq@ﬁ v E:
1= ' 2023 e %
f®Ee : HFFS -01 %
ot e 0
AR -1 : IR eEemEE ;SR Eem 1930 : 4004769
¥ WET-I1 : SR . yEAEE 313 150 ) :

uT : 2°HwR . ol : 150
T o
E

yfa (Fieft) sr=lies @ T WS |

. |l T % IR S | W U] % 376 A § | 3TN, FH-IF TH-YehT 5 I W 2 |

. I T ] o1 Wl ST, TS wd fave g 3ifhd S STIAT ST-T 1 Hed1HA Tal
Toran s 3 Suh eder @ anefi <1 &l |

. TATFA-YRIH T 150 Y9 | TS T S WR (4) Sehfeqss I I9H % A g ME 1 HImi A |
el T € T S | o S o 39 vl A wed S THe €, SW-TE H 36k S A1 g4

N b=

w

A Sie-i5e U & T HIeT K < |
4. FTTHA S I TF-GETH  HR U W HS 7 [ | T HE & T me-gfssm % = 4§ feg 7g
ST IS31 T SR L |

%
g T2 | +
%mmww%mm-mmﬁﬁﬁIﬁm%mﬁam—maﬂ%%‘r%ﬁuﬁwmﬁ !
g
g £
v £
£ ¢
¥ 5. ye-qfer Sien % G 91 ST B 58 & R T -iRie 98 I-w & v e welt-wity o9 gu g
% %lﬁug-ﬁwwm—mﬁﬁém@ ﬁmﬁ%ﬁmm@ﬁm—g@m%w—mg
T A |
.s‘éfwr@mﬁaﬁmaﬁﬁﬁa%ﬁﬁaﬁwﬁﬁrﬁa%1f§m¢r(%aﬁ/aqﬁsﬁ)ﬁ%a%ﬂmm§
. % AT T, IS TEHT THE BT | x
.Wﬁﬁ%ﬁm{@g
TR0 W IRHIEER g fae 7o Trete 3T & forg 2us oz s |
(1)mm%mwﬁﬁmm%lmmmm%%ﬂﬁqmwwm%ﬁﬁm
33 3 ga fp Ty o7t w1 ueh-ToEE qus % w9 § wrer S | g
(i) IR P IEIGAR T & AR I I R, @) 39 o S A o, guh Rr s d v e ¥
IR aE B 7, T o 39 w3 R SwweR @ 6 e o wvs T S |
(m]aﬁanﬂamgmaﬁémsaqﬁf-mm%mmﬂmwmqﬁﬁmm% a‘rmmﬁ'
| %mﬁémaﬁﬁmm! L

sfeskes




St b e L o N

HFFS - 01

Part -1 /90PT-1
General Studies / 9HNF AR

1. “Kumar Sambhava” an epic poem was
composed by e

(a) Kalhan .

\(b) Kalidas )

(c) Chandbardai -
%ﬁ? (d) Banabhatta

2 Which country will host the 20
Asian Games in 2026 ?

(b) Saudi Arabia _
(c) Qatar

_\Ld] Japan

3. What is the “Fair and Remunerative |

Price (FRP)” for sugar cane crop for
Sugar Season 2024 =25 ?

(a) ¥ 325 per qumtai
‘ (b) X 340 per quinta-_l-v?l
(c) T 315 per quintal™
%grlﬂ (d) I 310 per quintal

4. What is the popular name of IVF ?

(a) Test tube baby |
(b) GIFT

(c) Tubectomy

(d) Amniocentesis

S. Which one of the following pairs
(Cities-Rivers) is NOT correctly matched ?

(a) Sultanpur - ' Gomti
(b) Gorakhpur - - Rapti
m Mathura — "

(d) Kanpur - -~ Ganga

*2%

1. “PHR Ge9a” TEThrsy fopeehl AT 2 7
(a) Hegw

(&) e )

(c) TesRerEt

(d) smoTTE

2, zoﬁq&mﬁ@ayﬁaﬁﬁm(zozﬁ)eﬁrm
fom <o g i s 2

(a) S 3T I
(b) T3 I

(c) shat
d) M |

3. =& 2024 - 25%1@@@%%@
“3fed T AWHH Iod (Th R 9)” Reaw
T gfy e g 2

(a) ¥ 325 ufi faemee
\ (b) % 340 i f=m
(c) % 315 wid faa=s
(d) T 310 wfa fea=eet

5

4, 3775 <t TP B AR TH FTE ?
(a) o= 23m 3

(b) Sft o118 we &

(o) TR

(d) TeEE=Rm

5. = gmi 8§ @ BH-a1 3w (yR-Arear) a8
AT T R ?

(8) gEME  — T
(b) TRE@R - T=h
CEES - §ma ]
(d) S -




o - 8

In which Country “Taklimakan”
desert is situated ? B

(b) Russia ar

(c) China

7 8

(d) Mongolia

Who was the winner of World Food Prize
2023 ?

(a) Ratan Lal
(b) B.R. Kamboj

} (c) Heidi Kuhn ]

8.

(d) Cynthia Rosenzweig

To whom is the Chief Minister
answerable ?

wffwniiil

E;&ﬁ (b) State-legislative Assemléjl'ju

10.

(6) Prime Minister =~

(d) Governor

Who was the prominent leader of the
Gadar Movement ?

(a) V.D. Savarkar jz-_._.‘
(b) Chandrashekhar Azad

(c) Lala Hardayal

(d) Madan Lal Dhingra

Which one of the following is called
‘Mouth Amoeba’ ?

(2) Entamoeba Esto_ly_ﬂﬁg_‘
{b] Amoeba Proteus pored

\ (c) Entamoeba % valis ’

(d) Pelomyxa

9.

10.

% 3 %
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«qaeliimR T ra dm A Rm 7
(2) T
(b) ¥4
(c) =
(d) HeTTTeTan

ﬁﬁwwz@s%ﬁamé
o Ei5E
(b) .3, F=T

(c) B BT

(d) T IS

et s i Soert g @ ?
(a) TG

TRl
(c) SEmH

(d) TsTUTet

T FATEIeH 1 TgE a1 S AT ?

E R I CIE T =
(@) a@e%ﬁ
(b) TR WG
(c) e BT

(d) we e i

frorRed 1 3 R e sy 1 T & 7
(a) e fERiemsicsnt
(b) 3wfer MieE

T (o) wesnin fmfateorm
(d) Uit
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14.

15:

How many gold medals did India
win in the Asian Indoor Athletics

Championship. held in Iran in
February 2924 ?

(a) Seven

(b) Eight
|
1

= a, what is the value of x3+;§ ?

(c) Five

b

@ a-3a |

Which one of the following is NOT
correctly matched ?

(National Park) (State)

(a) Aboharp " —  Rajasthan
(b) Buxa -  West Bengal
(c) Balpakram -  Meghalaya
(d) Shirui —  Manipur

World Popéjétion Day is celebrated
on %t_-‘;f

() 26* January
(b) 25% December

(c) 11t July !

(@) Krait -

(d) 15% August
Which of tﬁ?following snakes is NOT
poisonous ?

(b) Viper
(d) Cobra

HFFS - 01

11. w&Ed 2024 ¥ |{A § R AR 3Er
wcifedd 2fRRART § wra 3 fray ol
Uk T foham o 7
(a) 9w (b) 313
(c) dr= (d) i

12, ?Iﬁi‘x+%=a, ?ﬁx3+% HIUFE TR 2
(a) 3a
(b) a® + 3a
(c) a3

. ElSE
(d) a®—3a ﬂmﬂg’ﬁ

13. fi=foRed 3= 3 & $-w od gifea

g ?
(T 3em) (T=39)
T —__ T
(b) e - ofvaw sme
(c) SeTIsHER - TEeEn
(@) Rreg L
14, fovg e feaw wamn s &
(a) 26 el
_ (b) 25 fewwR
L(c} 11 SeIE
(d) 15 3ra
15. f=foafes 3 @ - gt Rden @i & 2

* 4%

(b) I
(d) =Isu

(a) e




% Who won the Austra]iaﬁ open Tennis
Women’s single title for the year 2024 ?
(a) Zheng Qinwen
(b) Coco Gauff
(c) Ashleigh Barty
| (d) Aryana Sabelenka

17. Ifa:b:c=8:3:5,then

(2a—-b+c):(a+b+c)will-§@

{C.) 8:9 (d) 7.8 el

18. Which is the first State in India declared

as fully organic State of Indi&: ?
(a) Uttarakhand

i

(b) Haryana
(c) Arunachal Pradesh

‘ (d) Sikkim i

19. On an average, Urea excretggi___l by a
healthy adult human per d

%%% (8) 2-2.5gm
[b) 25-30 gm

(c) 150 — 200 mg

(d) 10 - 15 mg

20. Two angles are complementfégy angles
of each other, then each angle is

(a) Obtuse angle
(b) Reflex angle
(c) Right angle

Md} None of thesa%

HFFS - 01

16. =¥ 2024 T RS 3 e Afee e
1 Reare fpem Sfar ?

EEE
o 2
(b) =il T

(¢) T S

\id] ST FTeshl

17. iﬂéa:b:c=8:3:5%,?ﬁ
(2a-b+c):{a+bc)

(@ 8:7
(c) 8:9 (d) 7:8 .

18. WRa &1 YUia: Aferss T Aifa fopa 7 wom

TaR EEE
(a) SHETS E%ﬁ
(b) g

e e fove T
() 2 —2.57m

1 (b) 25-307m |
(c) 150 — 200 fiefum
(d) 10 - 15 frefom™

20. 3 T TH GG o T IV &, Tl Teih 0 &
(a) e T B

(b) &I B

(c) &® v B
| (@) @ =i =

% 5%




21. Who was the leader ofrevolt in Bareilly,
Uttar Pradesh during 1857 2.
(a) Kunwar Singh =

(b) Nana Saheb

mﬁ’_@@) Khan Bahadur Khan
(d) Hazarat Mahal

22. On which of the following dates is
World Water Day celebrated?

(a) 15 April (b) 05 Ma,y
\(c) 22 March | (4) 01 March

23. If6 persons working 8 hours a day earn
% 8,400 per week, then how much will
9 persons working 6 hours a day earn

per week ?
(a) ¥ 16,200 (b) X 16=890
o) 29,450 (d) X 8,400

24. Which State has highest ranlc in prize
winning list of 6* Khelo India Youth
EiE Games helc_l during 19-31 January

EiEd 20242 o
(a) Haryana
(b) Tamil Nadu .

‘T:) MaharashtraJ

(d) Uttar Pradesh

25. The Governor is fully accountable
(@) To the Parliament
(b) To the Vice-President
(c) To the Prime Minister

5 (d) To the President

HFFS - 01

21. 1857 4 seft, IW-yew & HIf=y H7 ¥ar
HiT AT ?

() P fre

(b) =TT TTE

(cj (CIE} jCIG!

(d) mﬂ‘sﬁ

22, ﬁm%rﬁaﬁﬁﬁ%aﬁﬁﬂﬁﬁ?aaﬁﬁaa

T ST R ?
(a) 15 3mde (b) 05 %%
(o) 227 | (d) 01 mrd

23. e 6 =fFq wfifeT 8 = wm % T 8,400
Ifd Twarg A €, 9 6 TR yRifeT wm w0
aret 9 =fe ufe gare feam AR ?

(a) T 16,200 (b) % 16,800

(d) 8,400

(c) T 9,450

24, 19-31 SHa 2024 $i 07 6 3 Qe

sfen 7 i i vew arfern # wetE wm
raTawmg ? %ﬁ,@
i B
(b) TS

(c) FERTE

(d) JTTRW

25. T<UUSl O &9 & IR BT 8
(a) E&g % Wi
(b) SISt % i
(c) wamEET & i
N(@) et & i

%6 %



26. Who among the following Mugal
emperors wrote his autobiography in

(d) Babar

27. On which model is the Indian Union
based '9

(@) England

(c) A%E}ica
(d) Switzerland
28. In which year National Bank for

Agriculture and Rural Development
(NABARD) was established ?

(b) 1990

29. On which river the Bhakra Nangal
project is situated ?

(a) Cheriab
) samy

(c) Ravi

d) JheIum

30. The Constitution of India was
adopted on '

Wa) 26 November 15@
(b) 28 November 1949
(c) 22 November 1949
(d) 20 November 1949

HFFS - 01
26. Trafafga grer seumel # @ fpma o
FTeHHT B § Tt ?
(ajmﬂﬁ
(b) ITE
(c) STETIR

(d) TR

27. YR ug fras gfoey W amaia g ?

. EE
i 2
(c) 3mfwE
(d) feesreive

28, USHE HN 3N yrfv fopm S (AEWTE) H
T ope A g8 7

(2) 1985
(b) 1990

() 1980

29, W@l Ater gfEieT fFg A W fR@ R 7

(a) T=E gjjﬁ
CEd

(©) T

(d) s

30. A % WiYUM H Jfigpa o w0
(a) 26 Ta=T 1949

(b) 28 TR 1949
(c) 22 7=’ 1949
(d) 20 TR 1949

de 7 %




Iz Homoeopathy/ gt
31. Atachstéﬁce of one meter intensity of | 31. TH #iet I gff & TURY Ao A
normal oithe conversation is 2
(@) 60 dec;belJ T(2) 60 R |
(b) 90 decibel (b) 90 Sfewt
(c) 30 decibel (c) 30 SRt
EGE
ieh (@) 130 decibel (d) 130 St
32. Hair are fe}]lowmg type except 30. %y I 9@ % 24 8, Hao T @2
(a) Termmﬁl hair with multiple @ oRad % = EIT@'EJ v
d1v1310 'j o
(b) Sccondary hair ()
(c) Terminal dark hair () el =
(d) Primary hair () Smafires
33. Bertillon: éystem is for 33. wfeem gomet e e 2 ?
(@) Dentltmn (@) efa Feper
(b) Nuclear Sexing (b) R T
() Dactylography (o) SfReamTH
rd) Anthropometry J EQI
34. Dracuncy_.;}i__asis is also known as 34. %Wﬁﬂmﬁm ] TET AT 8
(@) Rouncfﬁﬂorm (a) TRUS T gl;éfii!
(b) Flat worm ' (b) wHe T e
:__,f.;,@ (c) Thread worm (c) Jead
B (d) Guinéa worm (d)
35. Pulse protein is deficient in which 35. e SdA § fea ol aire i w R ?
amino acid ? ;
(a) Lucini;}’ - o) e
(b) Meth16iime m] = mﬁE
(c) Lysme (©) TS
(d) Al (d) =it

Part - II / VAT~ II

* 8%
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36. Which of the following is NOT a site for | 36. e o SiH-81 WM I I H AG @ ?

Ectopic testes ?
(a) Femoral trfa‘.ngle
(b) Deep Inguinal ring

e

(c) Perineum: -

(d) Root of théPenis
&

37. “Avena Sativa” is prepared from which

part of plant ?
(@) Rhizomes _ (b) Bark
() Stem - 1(d) Seed

38. Which lymphmd tissue contain red

pulp and whi}_:_T_aﬁpulp ?
(a) Lymph node

\ (b) Spleen
(c) Thymus =,
(d) Palatine tensil

39. pH of pancrea * juice is

(a) Light Acidic
(b) Neutral
Eségi (c) Markedly Alkaline |
e () Slightly Alkaline

40. Ligature mar]EJs horizontal in

(@) Hanging <.

ToET s
=

(b) Strugulation

(c) Both of the above
(d) None of the above

41. Which from ti'rg Apoptosis is
accompanied-by the release of
cytokine IL — 1-?

(b) Necroptosis

(c) Ferroptosis (d) None

(@) TrdRe gEfE
L(b) < s

(c) Wit

(d) ¥ 3% g A

37. ‘g wergEn” Wi % R W & &

g7 EL5E
ave  mow B
(c) & CEER!

38. ﬁq—vﬁﬁﬁrﬁﬁamﬁm@@m
T Tt S B 7
(@) GIGEIRE]
‘ Eb) Tt 3
(c) um=HE
(d) T eI

39. 3TN @ S 0t T Bl @
(a) T AR
b) @
((c) hrét e}
(d) BT &

40. wrgreR g &t B &
(@) HiEt &
\ (b) Tem e |
(c) SR % qHi
d) ST HiE T e

41. SRR F YA T % Y TSR H
TTErTE IL - 1 Feremar 8 7

(a) TR | (b) eI

(c) B (d) =8 T&

% O %




. Which of the following bone is the first
one to starf‘the occification ?.

43. Excessive sexual desire in female

(@) Fﬂgld@“

(b) Fettshrsm
- (c) Satjmé”@’is
= ﬁ.ﬁ d) Nymp@ggnania

44, Name of the father of Anatomy.
(a) Henry Gray
(b) Hlppoerates
(¢ Galcn =

\ @ Heropﬁﬂu__!

,:
45, Ekiri syndreme is associated with

(a] Neurosyphilis

(b) Tuberculosis meningitis
(c) Salmonella infection
(d) Shigeﬁgéis

B

46. “Baptisia“ Tmctona” is prepared from |

which pa.rt pf pla.nts ?
(®) Flower. (b) Bark of Root
(c) Bark of stem - (d) Seed

47. Which of the following is NOT a
mascular- fu.nctlon test ?

(a) Color Perceptlon

L,l'

\ (© Retlncgram B
—(-ci] Maddox rod test

HFFS - 01

42, = d 4 -t T vee RREA B R 7
(a) TETE
\(b) TR\
(¢) I

(d) g

43. wfgenal ® aﬂ%ﬁ;!ﬁqw
(a) 35
(b) SFawfe
(c) 3=

{iq) Tt |
44, TR TN HTTH BT 7
(a)%ﬂ'ﬁ‘)
(b) Tedishe
(c) T
d) |

45, ufsh figm o aeda g ?
(a) =RifafeeiE

(b) TSI A3
(c) TTEHHAT HHHTT

EEE
@ ﬁ%@
46. “3fRfm fewifmr #8 % e wm a s
(a) & | (b) e & o1
(c) T % B (d) &
47. T @ SN-91 TR BRH R T R 7
(a) R TE=E
(b) SSERH 3AT® I
\ () Tetom |
() TSEE s =

% 10 %
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48. Neuroglial cells are denved from
neuroectoderm except

(a) Astrocytes ;
(b) Glioblast
(c) Oligodendrocytes
{ (d) Mycroglia

49. Which hepatitis was known as serum
hepatitis? = 5

- (a) Hepatitis C  (b) Hepa‘)htls D
U:] Hepatitis B | (d) Hepatitis A

f“-s

50. Inwhich century of medicine the short
gun prescription was advocated ?

(@) Chinese System of Medicine

(b) 17%Century Medicine ™
Ec) 18t Century Med.lcule:l-

(d) None " §

51.. Rubric Milky urine is founded the
chapter of Kent’s repertory.
(a) Bladder (b) Urethra

B 0 eney (@]

52. Oesophageal varices are seen in which

part of oesophagus ?
ha) Lower end !

(b) Whole of oesophagus
(c) Middle region
(d) Upper end

53. The least mental excitefr___%ént causes
profuse return of menstrual flow

(a) Bovista

(d) Sepia

(c) Platina

HFFS - 01
16, < el ST o e & g

EEE -- TeE
(a) TEETETECH m"%ii
(b) Frem=T=
() FfeTEgETEE

(g mmife

40, Tra YeERe B HiwT RICERE FE I T ?
(a) FrewREHd  (b) e S '
Vo thesra s | () Femsfa T

50. feg fafeeda wd # faftheawt g0 T T
RifSrer 6 Fwea 6 s o ?
() = TS A
(b) 17 FH =
\(© 18fi =gt 1
(d) ¥ & HE T

1. = R I Sw ke & e e

#3
() =TS (b) e

o et (@]
52. mmﬁﬁgr&ﬁmwnﬁ%%amﬂﬁ
@1 T R ?
EEE
o

53, 7o & T TR S ¥ e § T
e B T 8

(@) ST
(©) wAfeT

\(p) s e |
(d) i

% 11 %




Any appeal against the order of the
district forum or the State Commission
under Consumer Protectioﬁ',:?kct must
be filed within :

(a) 60 days

(b) 45 days

\ (c) 30 days |

(d) 90 days

55. Which of the following is NOT a source
of cystokines ?

(a) Mast cells ,

gy [T Pl
# (0 Endothelial cells
(d) Macrophage

56. All the following condition are
contraindication of I.U.C. D. insertion,
except =
Select the correct answer from the code
given below :

(a) Trophoblastic disease

(b) Female with normal menstrual i
%ﬁ,ﬂ cycle e

w (c) Suspected pregnancy

(d) Pregnancy

57. Which of the following is NOT a part of
classical tried in the Diaphragmatic Hernia
thought the foramen of Bochdalek ?

| (a) Most common in old age
(b) Scaphoid abdomen

(c) Apparents dextrocardia -

(d) Respiratory distress

HFFS - 01

54. e 9= 1 =g 3 % oy & fee s
IusieRT TRET TR % s=wia femae fedt
T S EHA B 7
(@) 60 e
(b) 45 &

flo) 30 }___

(d) 90 fe&x

55. e S-u1 R w1 6 @ § 7
(a) A= SHITIEHT

(b) wieeted
(c) ToSiefiferrer sif¥men
(d) HTESHIGST

56, fe3 ™ fr=fafea oft amg.g @€ o %
FHIERISHYE 8, e
9 T3 ™ e T o I F1 === FIRE

- [

(8) PP 5‘%@

\ (b) T wfers =
(c) iy e
(d) e

57. = § ¥ SH-91 BOEA ATF SHeeS §
SRS BT o FeATHehe] 158 1 (&0l
TR 7

[(f) @ W e a8
(b) THHES TR

(c) IRV SRLIHRIEAT

(d) Yemtett fewgw

% 12 %




. What is the means of “cure” in BB.CR. ?
(a) Modalities
(b) Seat of the_;g__js.ease
(c) Time

rd) The cause.

.......

of buccal infection and dental caries

mﬁfm except

(a) Lactofenne
(b) Ptyalin | -
(© IgA '
(d) Lysozyme

60. Decimal scale was introduced by
(a) Dr. Burnet
(b) Dr. Boenn_ﬁijg hausan
(c) Dr. C. Herﬁi_";
(@ Dr. Hahnemann

61. Hering’slaw of dure is depicted in Kent’s
- philosophy under which observation ?

La) 11* Observation

_-—

(b) 10% Obser:_sfghon

(c) 8% Observahon

(d) o Observat]pn

62. Which O.P.V. type is with drown from
all immunization ?
(a) Type-3 £
(b) Type-4
!L(C) Type-2 .|
(d) Type-—-1

HFFS - 01

58. off.&f.®.3m. R § v w1 F gaes
AR ?
(a) TsfedS
(b) Hie 3ms T fesfie

Tazes)

50. % W a TE F HE T 7
B

(a) AFIBIE
(c) IgA
(d) TTsESTEH

60. =ae e &1 aaseRr HEs grr e
™7

(a) Sf. T
(b) <. s dem
(c) ST ®. R |
(d) =F. &

61. TN 3T T H B F A § 6 FaAD
% TEd I T E 7 o
L(si)mma:aﬁhm B
(b) TEET A
(c) F3al el
(d) e Ee
62. HH-u .M. THR @i e F
ferm T g ?
(a) oofi -3
(b) Fofi—4

\(c) ot -2 |

(d) Soft -1

%* 13 %



63. Diarrhoea before and dunng menses
(a) Sabina -
(b) Stannum met
(c) Pulsatilla
T{d) Ammonium ca.r}g_l

64. In detection of PEM arm circumiference
12.5 - 13.5 cm indicates

(a) Satisfactory nutrition

EE’EI (b) Mild to moderate maln;‘:rmtlon
(c) No malnutrition &
(d) Severe malnutrition L

65. The leading question shotld NOT
be permitted during case taking is
discussed in which aphorism ?

(@) 150
(b) 279
() 77 i

i !d! 87 and 140 _I

66. Polyhydrominas is definéd’as a state
where liquor Amni exceed to mL

g (@ 1200mL  |(b) 2000 mL |
ﬁ%ﬁ (c) 1100 mL (d) 1000 mL :

67. X-ray were discovered in L_95 by
(a) Howord Sochurek  +
(b) William Harvey b
(c) Brain S Worthengton
t(d) Wilhelm Conard Roentgen |

68. Police Inquest is done in all Except
(a) Death by animals
(b) Homicidal death
uc) Death of the convict ini Jaﬂ_i
(d) Suicidal death -

HFFS - 01

63. TR q TES 3R I QR HATTER
CURSEIES]
(b) R W
(c) TeHTeRT
(d) I $E

64. 9300, S8 I TR ST 94T T
12.5 — 13.5 9t 3 e ®
(2) WSS AT
(o) & & 7w o
(c)@jquﬁ :
(d) TR FeTTm

65. ¥ FHT H T ST I W A T FA
e 7z Rea srefew & aftfa femmn 2 2

(@) 150 El5E
o

(b) 279

(c) 77

d) 87 @ 140

66, rehEEateTE T feweve T T a
o s g freft ferer
(a) 1200 fir. =. \(b) 2000 f&. =

(c) 1100 4. <. (d) 1000 . <.

67. TEE-LH E 1895 F fpua fmem o ¢
(2) T WG
(b) Terferm &
(c) 5 | Fffred _
\(a) forerem B T |

68. T Sigemt ot i yfora i gt e BRil § 7
(a]\‘ﬂﬂil‘ﬁﬁﬂ

(b) FI™ I TSRl OeY
{(c) 3N Torg I i 5 & 7Y

(d) e
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69. The death point of the spores of
mesophilic bacteria is between
(a) 80°—100°C |
1 (b) 100° - 120°C
(c) 60°—70°C.
(d) 50° - 65°C

70. Which of the following is an example of
semisolid vqﬁicle ?

(a) Isin glass {
(c) Lavender.oil (d) Glycerine

(b) Cane sugar

71. Cobbs a.ngle“rs measured in
(a) Lordosis

(b) Lateral flexion
E‘\(C) Scoﬁosig;‘?ﬂ
E%@ (d) Kyphosis:~

72. The Rubric Risus sardonius is given by
which chapter of Kent’s repertory ?

1; (@) Face | (b) Generalities

(c) Mind (d) Mouth

73. Typhus feve?-qéccurs by

......

\ () Louse bite
(d) Flea bite

74. Which type of operative procedure is
performed in congenital or Nulliparous
prolapse ? ..

Select the correct answer from the code
given below :_.

(a) Sacral Colpopexy

(b) Sacro spinal Colpopexy

(c) Le fort Operation

Ed) Cervicopexy

HFFS =01

69. BfERTS St % ey % 10 g, 3
7% S 1 BT &
(a) 80°—100°C
(b) 100° - 120°C J
(c) 60°-70°C
(d) 50° - 65°C

70, frm i @ H-a iR AR S
27 C EgE
T smfm e | (b) 3 gx [-:ﬂa«.:‘@__
(c) TRvR e (d) femdH

71. ea B el I AR 7 .

(a) TTSIHE

(b) & TS

(c) EniferRRE

(d) HIEHIRE

70. v fvm arEifEE = fudt % fra e
Ffemmn g ?

(2) %&
(c) AT

(b) SFRICTEST
(d) w=a

73. <EHE §E@R BT 8
(o) SrSwITE W |

(b) & I &

ﬁc) H1SY S

' (d) Feft s @

74, @ A ARgEE Seem § RRE TR 6
aTRfes wishan i S 7 7

2 Y T Fre J TE W H T BT :
(a) S HreaEE g;,g%
(b) shY TS SHrearaerdl

(c) ¥ B ImRIH

\ (@) =it et
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75. Characteristic Pos&nortem finding of

76.

EI\ (a) Physioléj@iigaldoses

carbolic acid poisoning

! (a) Brown l_éithexy stomacI:J

(b) Black ché’rred stomach
(c) Yellow chorred stomach

(d) Greenish stomach

Homoeopathic medicine (remedy) are
never used in.

2
Eréy (o) Subphysiclogical doses

7T,

78.

79,

& (bj Lungs digéas_e

&

(c) Both (a) and (b)
(d) None

It acts well bgfore or after cinchona in
colloquative:éii?{ea"cs, diarrhoea, debility,
after Nux in-fainting after a meal.

(a) Benzoic a‘b‘;d

(b) Sulphuric acid

(c) Phosphoric acid

(d) Picric acid

Alportes syrg’ﬁgfome is related to
(a) Bone matrow disease

i

idney disease

ase finding program are which level
of prevention?
(a) Tertiary
(b) Premordial

Uc) Secondary’

(d) Primary

HFFS - 01

75. Eﬂﬁ%%ﬁﬁ@gﬁwﬁﬁmtﬁm@a
e 7

(o) 0 s e g |
(b) I e B3 e
() iem Ser g3 e
(d) T

76. @ﬁﬁﬁﬁﬁaﬂwﬁﬁaﬁmﬂqﬁsﬁwm ;
=iy S
(e s =< g e
(b) G&H G
(¢) (2)  (b) EHI G
(d) T & B &

77. HITeicd THIAT, &I, GEETAT # RAehIHT 3 Tgel
7 91E T 3TST B Bl & : WISH & 916 S8
B 9N T 9 % 91

(2) S=iEsh TRre
(b) TEwI Ts
(c) wrEnif Tl |
(d) Ffsres dtre

78. UeHcH fogm &1 o=y 8
() &= 9 FH FEE I
(b) s s SaTd &
lc = % st =
(d) =pa i fiurd ¥

79. %9 BRERET HRHT USUH S A T FHF L 7
() T
(b) e

{(c)rmzﬁrmr'

(d) s
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Eﬁ% (d) None

Mature Teretoma 1s also known as

_____

code

(b) Corpus Leutial cyst

(c) Dermoid cyst

(d) Follicular cyst

81. One of the followmg’ ;ioes NOT cause

clot lysis -

s

\ () Thromboplastin - |I

(b) -Urokinesis
(c) Streptokinesis
(d) Plasmin

82. Area postrema fu.ncmons as

Fa] Chemorecepiﬂ-ﬁl

(b) Nociceptor F

(c) Osmoreceptor

83. Which of the following medicines
frequently indicate a.fter siliecea and
sulphur ? =y

(a) Calc. Carb

() Sepia_{ .

(c) Nux Vomica £

(d) Lycopodium

84. The interpretation of 12™ observation
of Kent says that

! (a) Given medicine to-be antidoted
immediately o

(b) Medicine has be too late
(c) Medicine must he left alone

(d) None

HFFS - 01

80. URyag 2 36 | ¥ ¥t ST e B
= 3 ™ we d 9 Td T/ B =
HIfT
(a) HRE e
(b) HRIE gfeTe e
(o) SuTmss e
(d) wrefieer foee

81. =¥ o v W Uap 1 T TE
Ul 8 o
&) arerie B
(b) Teprs-ieE
(c) WRrhEE™
(d) =

82. wfwn wifegHn 1 %E 7
() TERH AT
(b) TEfEeR

(c) TTE TTEl
(d) = & = T

83. wrsfuiymEn it Tew & we Trafafes § &
FH-H o B IFE A @R ?

EiE
(a) SHEhIET &
‘(b)ﬁrﬁm |
(c) el SfeehI
(d) ARSI

84, UL HT NS IR I§ SIS
EZGIRAED

2) & T8 SN T WS
(b) T g7 # ¥ga L T

() 3w = e Sig & =R
(d) =3 &l
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85. Birth length doubles at the. age of

(a) 2 years
(b) 1 year
(¢ Sya.rs

86. In how many weeks a fresh prepared
Iodim-. Lugol solution does detenorate ?

P e P
(c) 3 weeks (d 1 week

87.. The ratio of uterine body angjcervix at
Menarche is
Select the correct answer from the code

given below :
‘(a) 1 | ms:rs
( 1:2 @ 2:1 %

88. Wh.lch of the foHomng is hmgs joint ?

(b) Supenor radiOulnar
(c) Metacarpophalangeal
(d) Wrist slitis

89. Who made first cord repert_cii{y ?
(a) Dr. H.N. Guernsey '
Ub) Dr. William Jefférson Gﬁéi'nsey
gz
ﬁé (c) Dr. H.C. Allen

1}
(d) Dr. Jugal Kishor

90. Strong Alcohol is also ca]led—
(a) Alcohol dehydrated -
(b) Absolute Alcohol
(c) Anhydrous Alcohol
$(d@) Alcohol fortior\

HFFS - 01
85. = ast # 5= it wwens & T & ot 2
(@) 299 '
(b) 1%
(c) 3¢

86. wm@mmﬁqﬁwﬁmﬁgﬁw
T frgar ® ¢

(b) R T

CEI=N
(c) T &% (d) T g

87. :ﬁmﬁ%mz@héﬁa@aﬂtmw
FITT T B R 7

ﬁ%ﬁ&n&aﬁsﬁa@mwwﬁﬁq
S(a)l.l ‘l (b) 3:2 Eﬁrﬁ'
() 1:2 (d 2:1

88. Ta=foifea & F- s afr 2 7

(c) TRTHTITherT-eet
(d) eTg

89. Torem wgem %1€ fudd s mn ?
(@) 1. W Y -;
\(b)_z1. fiftem Stvwm wa | |
() =1 TaE. wH
(d) =1. = e

90. ;;iﬂaaﬁzaaﬂtﬁmwﬁmmm
? i
(a) 3Teshiga fAsifera
(b) THRE IHcwHIET
(c) SFEEEH Jehied
\(d) Irerest wifdam
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.  Mental Health Care Act came into
existence ek

(a) 2018 ;@:}) 2013
(c) 2015 “fiﬁ] 2017

475

92. R.A.S. (Raticular Activating System)
is found in

(@) Cerebellum (b) Cerebrum
(©) Spi.ﬁal cord .'i él] Brain stem |{

93. Glactokinesis is mamly due to which
s hormone ? -

Select the correct afnswer from the code
given below :

(b) Progesterone
(d] Prolactine

(a) Oestrogen -I
\ (¢) Oxytocine

94. Prognosis of sch:zeph_renia is best of
(a) Family hlStOI'y‘ 1s positive
(b) Negative symptoms

%ﬁﬁ (c) Insidious onset
| (d) Acute onset
95. BEST’s disease iéf;ssomated with
which of the followmg parts of eyes ?

(a) Uveal Truct (b] Conjunctiva
(c) Lens

T Macala

96. Which of the fo]lowmg symptoms is
incorrect about dulcamara ?

right word for. anythmg

(c) Urticaria over__yhole body, no fever

l((d) Urticaria > in warmth < in cold

HFFS - 01

01, wRE e YEwTer SR st &

T
(@) 2018 (b) 2013
(c) 2015 d) 2017

92. IRTTH. (Fager wfaeaten freen) wrn
IR —

(a) Theem (b) Tfsm m,sg
(c) TTFA 1S ‘(d] ECk=x]

93. mg@ﬁ:/mmmaﬁmem
TIE Y AT R ?
= ¥ ™ B T T TE ST B =9 B

() AT (b) SSIEH

(o s ] (o) e

94. wointEn & fem % st @ & 7
(a) INER & 9 STHETA I THRIAS

(b) TThRIHh &I Ep%ﬁr[a
(c) =R 3T e
(d) FIries

95. sE e P Y sl s sn-A R @
TrEfRE R 2

(a) Iferet g
() v

06. TEHMN F TR A = A ¥ PH-TT T3 Tord
??
(a) TR o & UgS T

(b) WIS Iee : et oft <fiw & forw v
g & et ar

(c) R i W fireht, am &
ul) ot > i | < 3ug o

(b) FrerTEaT
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97. The generation time of Lepra bacilli is
(2) 20 hours -
(b) 12-13 days

(c) 2 hours

(d) 20 minutes

Which are absorb least quantity of

08,

medicine ?
{1 y

(a) Tablet (b) Pillets
= ..

(c) Globules | (d) Cane -

99. The fundamental causes of th_e chronic
disease is generally due to .-
U;) Chronic Miasm
(b) Acute Miasm

(c) Exciting cause

(d) None ‘__ 2
100. In Kent’s repertory, “Mania;i—Potu” is
- given in which chapter ? -
(a) Mind (b) Generalities
(c) Vertigo (d) Head
101. Which of the following is inactivated or
killed vaccine ? _
:%g’@ (a) Measles (b) Mumps
med 0 B.c.G.  [(@ Pertussis |
102. Which of the following causjé‘l'ilis

responsible for inappropriately leaded
chronic disease ?

|L (a) Avoidable noxious influences
(b) Syphilis ‘
(c) Fundamental cause

(d) None

97.

98.

99.

100.

101.

102.

% 20 %
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A SRFTE 1 o w9 § SAEH ST @ 7

© () s,

(a) 20 =uer
(b) 12-13 f&7
(c) 2 =mer
(d) 20 FFe
et 3 & -3 w0 3 e e R R R 7
(a) Tsie (b) TieieE '
© wiegew | (d) 3|
EeiepTiors T & ST HRUT BId @
M) =i P
(b) < T
(c) STNIA A a1t (TWT=Ieh) HRO -

0
(d) ¥ & FE T e

Hfsres “BfET-T-tig” Seew Tl & fopm s
Ffmmmng ?
(c) af&m

(b) SRfeTiest
(@ T

fefafea & @ =0-w1 S - 99 S
?7?

(a) @&

(b) HUSHTET T AT
d) et @

=1 8 & -1 SR IR T Q@ e
SR & SR AT B 7

(a) IREH RIS IHE
(b) fafsfera

(c) ¥t HH

(d) I3 T




% HFFS - 01

103. Select the incorrect statement. 103. T HUT H =T B |
A 1d-kali
Ua] ; :It;lama after the roseco (@) e @ % g - Tﬂéj
(b) Pain came quickly an;lgo away- (b) €& Sl AT B 3T Sfed) =l S 8-
quickly : euptorium pel‘f Fueifem Th
(c) Perspiration has odouf_pf (© e F gewt B T B SRR
sulphur-phosphorus ™ .
(d) Focul breath in girls at the (d) Farereen # wrefpat < Tl gie-
I e

puberty -Arum met

104. Major anion in mtracellul&r fluid is 104. 37d: IV 29 § 9@ HEE sl e

() Chloride : (a) FEANTES %%_%
(b) Bicarbonate (b) STEHIEE 5

‘ (c) Phosphate i o, || 5556 1@
(d) Protein (d) SR

105. An act of acid throwing is punishables | 105, T %% 1 Fe foveeh T8 T & 7

under (a) T 376 3T @ @

(a) Sec. 376 - IPC &
(b) Sec. 302 - IPC ™ (b) ST 302 e O &

wférm (¢) Sec. 354 — IPC ' (c) F 354 a7 0 &
(@) Sec. 326 — AIPC | (d) TRM 326 T 3% W &l
106. Kala-azar of South America is caused | 106. 21 3ThYRT W1 Hren SR e g
by "--f‘-' —QPE‘T % ? %ﬁ;@
() Leishmania ArchlbaldL (a) chemfer sfharest
(b) Leishmania Donova.t‘l'"’;E (b) St ST
\ (¢) Leishmania Chagasi | ()
(d) None F (d) T
107. Cane sugar is used in preparation of | 107. ﬁ?aa%ﬁq‘fm T 7= S = 0 ST
TR ?
Globul wk, i _—
(a) .o es = (a) T
(b) Pillets (b) ﬁé?\a
{ (0) Both (a) and (b) (9 () 3T (b) 3l
(@) ®rs TR

{d) None
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108. The chromatin may fade that reflects
loss of DNA beca‘.use of enzymatic

(a) Pyknosis g
(b) Karyorrhexis_;ﬁ;f

:&rﬁl‘ (c) olxsis sf

(d) Necrosis

109. Safe distance oflaﬁlnes from a source
of water supplygshould NOT be less

(@) 13 meters J;(b) 12 meters
Hc! 15 meters l (d) 10 meters

110. In Kent’s repertory the Rubric sleep long
Agg. in given in Whlch chapter ?

(a) Head E(b) Generalities !
(c) Vertigo n'?'i:‘.:___(d] Sleep

TR,

111. An ulcer that may develop from burn

scar tissue is
%%% (a) Melanoma

(b) Carligus .=
(c) Rodent

112. Umbilical cord contains how many
artery and Vein ?
Select the correct answer from the
code given below

(a) Two artery two vein
(b) One artery tvs_m vein

(c) One artery orle vein

E&»} Two artery one Veilﬂ

HFFS - 01

108. SHIIT S YU T M1 Sl SUSII{aeras &

BT USITSH &T0T & ShITTehT v 1 ferere syaran
?EER
(2). 1 T
(b) = @A
1 (o) =< foeres
(d) “spife
109. W& Y[ ¥ Ha ¥ AamerEt H g gl
08 Y ¥ HH TEl S =eg
(a) 13 =R (b) 12 HieX
{9 157= (@ 10 =

110, e S e iy i R
Afenmmng ?
() T
() s=

b) SRffS
(d) Hie

111, 1 §E % o HI § (Shid ST HeET
HHE-T1R ?

(a) Her=ET
(b) wHIfeTE
(c) W=

-

112. A==cTgehel SIS # fShadl 3l 3 3=
AR ?
TR R II I WA AR |

(a) a ARG & 9
(b) T I & I
(c) TH M T I

\(d)a‘raaﬁfr@%-«q
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(a) Fluorine
(b) Chlorine

\ (¢) Calcium carbonate _j

(d) Zinc carbonate

114. Transverse diameter of thoracic cage
increases by ;,;!

‘ (a) Bucket handle movement—ef ribs

(b) Pulp handle movement of nbs

(c) Caliper movement of nbs= -
(d) Contraction of dlaphragm

115. Bilious calic : following by Jaundice,
clay colour stool and fistula in ano
which bilious symptoms a.nd; 1tch1ng of
the parts ¢

(b) Nux Vomica “

M§’E (a) Silicea

q (c! Berberis Vulgaris l

(d) Calcarea Phos

116. <Aggrivation by heat of by> rest in bed
(a) Phosphorous

l‘ [b) Mercunﬂ§ !

(c) Sulphur

(d) Arsenic

117. No. of medicine in “A concise” Repertory
of Homoeopathic medicine

(a) 492 x

(b) 394
(c) 393
(d) 493

HFFS - 01

113. 3R UMl HT THE HR
EIRSUE

(b) AR

(C) Hox™H HEHE
(d) TSrp rEie

114. wﬁ%ﬁaiwﬁu%vamm%

(a) TETeR % whe ea MR D | EHEE
e

(b) wafert 3 veq g5 i &

(c) vEfer o ShfeTr 7 &

(d) sE%m % Riped &

115. frase St e I % 16 8 €, e F @

N T, EFTE §O AT W) w1 &
R ug et W A gl

() wsfAfien
(b) T Sifereet
c) TN TG
(d) i Bid

116. <fargay & moff @ sifr> e w amm &
() BIEHH E45(E]
(o) | o
(c) GTHL
(d) 3=

117, “weamss” ol o s afes= o gan
&6 gEn
(2) 492
(b) 394
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(a) Only integrative _

| (b) Sensory integrative an?igﬁiﬁlotor
(c) Only motor

(d) Only sensory

119. Most common surgical cause of
obstructive Jaundice is

_[a) Alcoholism
(b) Malignancy
%ﬁ,@ (c) Stricture in C.B.D.

120. Women having their first pregnancy at

called

(a) Grand mulh

(b) Primi para

(c) Multi primigravida

! E! Elderly primigravida

121. Among all the chronic dlsease the most
deplorable disease are

(a) True chronic disease
1 (b) Artificial chronig disease.
%E;-E (c) Pseudochronic disease

(d) None

122. Greenish discoloration around the
colonies on blood agar mecha is an
indication of =
(a) Gama hemolysis
(b) Beta hemolysis

E(c) Alpha hemolysis

(d) None

HFFS - 01

118, dfye a3 % e R S R A f@ ™
Td HUA w1 GO |
{a)iil’ﬁs-‘aﬁﬁ‘q’

(b) 3= e w A
(o) W
(d) T E=

119. IeieTes Nfo@T =1 g8 3™ Giiea
HROT FT 8 ?

(a) IR i &«

(b) 'ié*ﬁ”

(c) S.hE. F sy
NEEEERES

120. 3N 2T W FE IrA= @ IR TEE g W
37% 30 3 (FFMi-35) 3R Hies
=
e

(a) TS Heg

(b) St T

(c) et STsHEHS!
(&) se=teh st

121. weft Sferfom Sl § oo 3t awen
o1 W Tl TS I IT=IRG T B

(o) W& AR H e T
(b) i Eelepriert T _|
© (c) BeH dEwIeE
(d) 13 T
122. 9 TR 9 W ST & = 3R &® 0
1 BT TShEeh Tha & 7
(a) T & fereres w1
(b) sfer T fereen =1
\(c) 3! T e i
(@) ®r8 T
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123. What is the meaning of “Qua.ndo” ?
(@) “Time
(b) Location
(c) Seat of the disease -
(d) Cause of disease

124. The cross bridge of the sarcomere in
skeletal muscle are made up of

(a) Troponin

125. Provingon Healthy Human bemg should
be done is mentioned i m Aphonsm

(b) Tropomyos'm
(d) Ac":‘ﬁm

(a) 106 (b) 107
@ 10

126. Sydenham’s chorea is related to
(a) Tetany:

wg‘!_g (b) Encephalitis
(c) Meningitis

{ id) Acute rheumatic fe\fei:

127. Most specific sign of the antemortem
burn is
(a) Pugilistic attitude .-
(b) Heat rupture
(c) Cyanosis of finger nails
mT Soot in resplratory passage

l"1
teersd

128. Jaundice in pregnancy is detected as
visible yellow coloration of skin sclera
and mucosa, when serum belirubin
rises about

(@) 0.3 Mg % o
(b) Decrease < 03Mg/ dl

| 124.

HFFS - 01

123, “@YHAUE!” HI Taed 8
(a) TrsH
(b) TARIA

(c) Hie 3% g st
(d) ISt 3T ESiist

@»ﬁm&&lﬁﬁwﬁw%mf&waﬁ

B R
() ZrAH (b) ZrAETEAA
(d) wfee

125. w;ﬂww;gwmmmﬁqtmﬁm
I W AR W E ? i
o

(@) 106 (b) 107
tgiee] @1

126. ﬁéagwaﬁﬁmmam%
(a) TR A
(b) FoHeEeE |
(c) AfETsH SR &
Tla) e vt b &

127. URHREH S+ o1 ged R S&or
(a) whfRes W

(b) T T

(c) Snfert 3 gt 1 e
(d) veTeAeh # v |

ST = T o fetwes o Schiswt T
SR 3 SR Wil WE R, =4 €
faforesdia 5= U5 TR %Eéli‘

(@) 0.3 . 7 %

(b) 03Mg/dl & &8
() 1. 7™ %
(d) 2P 7™ %

128.
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129. B.M.R. decrease in 129. ®1.U4.3TR. %9 BaT &

(a) Cushing syndrome —— (a) T R

(b) Nephrotic syndrome _ ) Awifes faem

(c) Increase the blood tempé‘iiféture (c) TR & AUHH Fei W

(d) Hyperthyrodism A (d) TR
130. Lung fluke is caused by 130. T Y BT @

(a) Trichinella spiralis () e e @ =

(b) Taenia sagineta (b) ST Sfiver &
mgE, (©) B. Malayi — (o) . wemh & :
E!ﬁﬁ ‘(d) Paragonimus Westermax_:li%j e T IR T |
131. Type - 1 hypersensitive is S 131. ETRERARNEE oY - 1 0 @ BH-Y

mediated by which of the following TS A B R 7

immunoglobuline ?

AT @M [EE]

(c) IgG (d) IgA - = (c) IgG @ 1ga  EGE

2
132. Proteolitic enzyme present msahva in| 132, &R SHE-T NSRS TS g
: .o STl 8 ?
Kallikr b) Lipase .
(@ mamer ], o e (@ 1) (o) e

(c) Lysozyme (d) Ptyalin ©) m (d) TERm
133. Intense congestion of brain frér delayed | 133, fyeifRy a1 &8 g€ wge™ & Wi 6 @

or suppressed menses heéﬁiache in T GpeTdT SR % Sg Ried

place of menses i 3 -
EI%EN (a) Glonoinum . =2 _E
Eﬁ'ﬁ (b) Stramonium ' (_b) i s

(c) Coffea cruda (c) <HIIBT 3R

(d) Belladonna (d) SR i
134. uster headache is also calléd as 134. o iRed 58 off g war @

() Anxiety headache i (a) Temme fieed

(b) Insomnia headache (b) g e

(c) High B.P. headache (c) 3= T = Reed

E (d) Migranous neuralgia (d) =T =gifesan
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135.

“Reeling” in Kent’ s Reportery is placed
under £

(b) Head

(c) Mind

(d) None of the above

136. Sick sinus syndrome is called as

‘ i i Sinoatrial dlseag__[

(b) Acute smusms

.......

lllll

T D

Which Trituration can be converted in
liquid potency under decimal scale ?

(@ 2X
(c) 8X

137.

Quinsy is charactensed by all except
(@) Should be drained

138.

5 ;S}g [c] Indlcatlon of toggﬂ]ectomy
(d) Peritonsillar a@gggss

139. APlis -
(a) Animal Paras1t10 Interva.l
(b) Average Plasmodlum Index

(d} Annual Parasitic Index

140. Vital force exite in ~
(a) A curative remedy
(b) A palliative mechcme
| (c) Patient and medlcme

| (d) Patient |

13s.

136.

137.

138.

139.

140.
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Fed Gt # “defir> % 3fria @

TS 21

a) afém

(b) &S
(c) uRTS
(d) ST HIE TEI

s 1w R = wa s 2

(a) A CS

(b) TR HRIERIH
(c) shifes wTEIm _
(d) =ifies argETsien .%

e e i - gegEE = ol

il & ST ST ST & 7
(@ 2X (b) 3X

@sx  Lagex]

el Reeht v =t Breswt wuft Y frsiwar &
(a) & & =R

T(@) =it i geis

&)w%mﬁmﬁmmﬂ

(c)mﬁ%ﬁ% %g’_@
(d) e & 39 U9 HaE e
T e R

(2) T SITel FEHTH

(b) 3Eq HISTH Fohish

(c) 3iea Tl g

Sie wifed 9wl et B
(a) T U= 3wl §
(b) T TSI IS H

(c) W= we ey e §




141. Sarcoidosis is disease of

(a) Thyroid glat_l_gl

(b) Intestine .
(c) Pltuxta_ty gland

142. Voracious appetite thrust for cold
water but is vomited as soon as it is

swallowed fi_
\(a) Veretrum_A'l%ﬁm
@u_;'é,@ (b) Bismuth =
= (c) Phosphorus

(d) Arsenic

143. Port wine stain 13 related with which of

the following 9 AT

(a) Artenal Haemangioma

\(b) Capillary Haemangioma

(c) Venous Haemangmma

(d) None of the above

144. Contracted Pelef?ﬁ defined as one where

'l.._ o

m&r@ plans are shortend by
{a] 0.8 cm ;_h # (b) 0.10 cm
(c) 0.6 cm \(d) 0.5cm |\

145. Glucose intolerance is the feature of
the deficiency of:

(a) Selenium

(b) Iodine

{ () Chromium _

() Cobalt

% 28 %
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TRHHE G SHR El &
(a) uTEES Tty

(b) 37a &

(o) “Toregedt wfr

\(@) =werd

142. mﬁ%m@m @%trﬁﬁa?rwmaﬁa—-{
Frrera & 3 & S

() SgH =M
(b) feremrr

(c) BEHTE
(d) T

143, O aee O T 3 @ frwd wefRE R 7
%ﬁﬁ]
(a) TRt ReAfRwm =
o) et Tt _)
(c) = TRt
(d) ST & IS TEl

144, HRES Yo fewETe T8 o o § TiREd
<rEHiet 3% 9 3R AR WA 3R Aie-s 91
(a) 0.8 & (b) 0.10 FEHK

() 0.6 ¥ |(d) 0.5 It |

145, TS TR $9 HHI B Hehd &
(a) EieftEm
(b) ITEH




146 Which of the following does suffer from
gastropathy in case of Zolhnger—Elhson
syndrome ? L

(a) Body .,
(b) Body and Fundus - -
(c) Andrum

147. Drug price control orde;_'_ in
(a) 1970 (b) 19»?1
(¢) 1975 d) Both (a) and (b)
148. Most common cause of Aizheuners
disease in
(a) I.B.S.

(b) Chronic kidney dlsease
(c) Hepatitis B.

(d) Dementla

149. Number of medicine 111 concordance
chapter B.B.C.R.

e () 144

(b) 425

(c) 141

150.

In which aphorism Hahnemann
discussed that physician should have
free from prejudice while tracing the
peculiar of disease ?

(a) 85 =
(b) 86
(c) 84
(d 83

HFFS - 01

146. T § H-a1 SifeR-3frsm digm § wet
forpfa @ mRa Sar @ 2 —
(a) ST E;%@
(b) sTEt 3T wUsy
(c) TH
[{d) wvsg |

147. ﬁﬁqﬂﬁaawﬁﬁmmgm
(@) 1970 (b) 1971
(c) 1975 (d) (a) 3R (b) T

TeaTe R SR 1 J&T HET SR §
(a) 278, &ff. wm.
(b) JTHT e T
(c) federsdim .

(d) TTTeTe

148.

149. W.¥.H.3R. F FHFHEH JI=™ § g1 Hi

HET 8

&
(@) 144 ’E!:’%ﬁ
(b) 425
(c) 141

Hdi 125 |

150. wEa 3 form g & =a R T fafems =
wiard % fafirear w1 var e T g wwor
¥ g B =R ?

(@) 85
(b) 86
(c) 84

% 20 %
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